Working Out Genetic Problems

Note:  
The parental generation are often abbreviated to P1


The first offspring of a cross are called the first filial generation = F1

The offspring produced by crossing two members of an F1 are called the second  filial generation = F2

1. Write down __________________________________________________________________

2. Work out ____________________________________________________________________

3. Work out all possible __________________________________________________________

4. Write down the _____________________ and the ___________________________ if there is more than _________________________

 EXAMPLE  In peas there are short peas and tall.  The T allele is dominant.

1. For  tall  X short plants  ____________________________

2. TT     

X    
 
tt

Gametes all _____
Gametes all ______


3. Offspring genotype all   _______

4. Phenotype of all offspring is ____________

For more complicated examples we use a _________________________ to get an F2
1. Parent genotypes

2. Gamete genotypes


3. Offspring genotypes

(in the boxes)

4. Phenotype ratio

